LV.F-SST-VD A 2 ele‘a TOHATSU

Bk - BHBR
@oH9 (U9 oA ()

9.
—
r i\ﬁ
L\i J
- C_)o —+— 150
SVT/
) Tl

11
e
Bl 444@“4
hl
h

d2
dl
D
EE | #e
HE | B | #E
PA+IGM | B | SUS304
25 i D|d|di|L |1 |1|d2|h|n|s BEXEABE AR L

BB (o) | fATEE (N)

L]

185301 | LV.F-80-14-SST-M8x43-VD 80 | M8 | 54 | 76| 43|33 |85|24 |23 |14 | 14 16000 86

185303 | LV.F-80-14-SST-M8x68-VD 80 | M8 | 54 |101| 68| 33 | 85|24 |23 | 14| 14 16000 98

185311 | LV.F-80-14-SST-M10x43-VD 80 [M10| 54 | 76| 43|33 85|24 |23 |14 | 14 16000 95

185313 | LV.F-80-14-SST-M10x68-VD 80 |M10| 54 |101| 68| 33 |85|24 |23 | 14| 14 16000 108

185315 | LV.F-80-14-SST-M10x98-VD 80 [M10| 54 |131| 98|33 | 85|24 |23 | 14| 14 16000 122

185321 | LV.F-80-14-SST-M12x43-VD 80 |M12| 54 | 76| 43|33 | 85|24 |23 |14 | 14 16000 105

185323 | LV.F-80-14-SST-M12x68-VD 80 [M12] 54 |101| 68|33 | 85|24 |23 | 14| 14 16000 123

185325 | LV.F-80-14-SST-M12x98-VD 80 |M12| 54 |131| 98| 33 |85|24 |23 | 14| 14 16000 145

185331 | LV.F-80-14-SST-M14x68-VD 80 [M14| 54 | 101| 68| 33 | 85|24 |23 | 14| 14 16000 146

185333 | LV.F-80-14-SST-M14x98-VD 80 (M14| 54 |131| 98| 33 | 85|24 | 23 | 14| 14 16000 167

185335 | LV.F-80-14-SST-M14x148-VD | 80 |M14| 54 |181|148| 33 | 85|24 |23 | 14| 14 16000 250

185341 | LV.F-80-14-SST-M16x68-VD 80 [M16| 54 | 101| 68|33 | 85|24 |23 | 16| 14 16000 168

185343 | LV.F-80-14-SST-M16x108-VD | 80 |[M16| 54 |141|108| 33 | 85|24 | 23 | 16 | 14 16000 222

185345 | LV.F-80-14-SST-M16x148-VD | 80 |M16| 54 |181|148| 33 | 85|24 |23 | 16| 14 16000 275

185347 | LV.F-80-14-SST-M16x168-VD | 80 |M16| 54 |201|168| 33 | 85|24 | 23 | 16 | 14 16000 302

185351 | LV.F-80-24-SST-M16x58-VD 80 [M16| 54 | 101| 58| 43 | 85|24 |23 |24 | 24 18000 230

185353 | LV.F-80-24-SST-M16x98-VD 80 [M16| 54 | 141| 98| 43 | 85|24 | 23 | 24| 24 18000 282

185355 | LV.F-80-24-SST-M16x138-VD | 80 |M16| 54 |181|138| 43 | 85|24 | 23 | 24| 24 18000 333

185357 | LV.F-80-24-SST-M16x158-VD | 80 |M16| 54 |201|158| 43 | 85|24 | 23 | 24| 24 18000 361

185361 | LV.F-80-24-SST-M20x98-VD 80 [M20| 54 |141| 98| 43 | 85|24 |23 | 24| 24 18000 354

185363 | LV.F-80-24-SST-M20x138-VD | 80 |M20| 54 |181|138| 43 | 85|24 | 23 | 24 | 24 18000 434

185365 | LV.F-80-24-SST-M20x158-VD | 80 |M20| 54 | 201|158 | 43 | 85| 24 | 23 | 24 | 24 18000 474

185367 | LV.F-80-24-SST-M20x198-VD | 80 |M20| 54 |241|198| 43 | 85|24 | 23 | 24| 24 18000 559

185371 | LV.F-80-24-SST-M24x98-VD 80 |[M24| 54 | 141| 98| 43 | 85|24 |23 | 24| 24 18000 454

185373 | LV.F-80-24-SST-M24x158-VD | 80 |M24| 54 | 201 |158| 43 | 85| 24 | 23 | 24 | 24 18000 629

R A e e e o o e e e N e I e e e e e e e e e e R e

185375 | LV.F-80-24-SST-M24x198-VD | 80 |M24| 54 |241|198| 43 | 85| 24 | 23 | 24 | 24 18000 750




LV.F-SST-VD i ez Elesa TOHATSU

Bk - BHBR

5y =1 Fmat =
25k st Dldldi|L|t|uwld2|h|hls %ﬁ;’? fﬁgff; Ef
185401 | LV.F-100-14-SST-M8x43-VD 100 | M8 | 70 76| 43| 33 |125] 24 | 23 | 14 14 18000 93
185403 | LV.F-100-14-SST-M8x68-VD 100 | M8 | 70 | 101 | 68| 33 |125| 24 | 23 | 14 14 18000 105
185411 | LV.F-100-14-SST-M10x43-VD 100 | M10| 70 76| 43| 33 |125| 24 | 23 | 14 14 18000 102
185413 | L\V.F-100-14-SST-M10x68-VD 100 {M10| 70 | 101 | 68| 33 |125] 24 | 23 | 14 14 18000 114
185415 LV.F-100-14-SST-M10x98-VD 100 {M10| 70 | 131 | 98| 33 |125] 24 | 23 | 14 14 18000 128
185421 | LV.F-100-14-SST-M12x43-VD 100 |M12| 70 76| 43| 33 |125] 24 | 23 | 14 14 18000 112
185423 | LV.F-100-14-SST-M12x68-VD 100 |{M12| 70 | 101 | 68| 33 |125| 24 | 23 | 14 14 18000 129
185425 | L\V.F-100-14-SST-M12x98-VD 100 {M12| 70 | 131 | 98| 33 |125] 24 | 23 | 14 14 18000 150
185431 | LV.F-100-14-SST-M14x68-VD 100 {M14| 70 | 101 | 68| 33 |125] 24 | 23 | 14 14 18000 151
185433 | LV.F-100-14-SST-M14x98-VD 100 |{M14| 70 | 131 | 98| 33 |125| 24 | 23 | 14 14 18000 172
185435 | L\V.F-100-14-SST-M14x148-VD | 100 |[M14| 70 | 181|148 | 33 |12.5| 24 | 23 | 14 14 18000 255
185441 | L\V.F-100-14-SST-M16x68-VD 100 {M16| 70 | 101 | 68| 33 |12.5] 24 | 23 | 16 14 18000 173
185443 | L\V.F-100-14-SST-M16x108-VD | 100 |[M16| 70 | 141|108 | 33 |12.5| 24 | 23 | 16 14 18000 225
185445 | |\/.F-100-14-SST-M16x148-VD | 100 |[M16| 70 | 181|148 | 33 |12.5| 24 | 23 | 16 14 18000 277
185447 | LV.F-100-14-SST-M16x168-VD | 100 |[M16| 70 | 201|168 | 33 |12.5| 24 | 23 | 16 14 18000 303
185451 | LV.F-100-24-SST-M16x58-VD 100 {M16| 70 | 101 | 58| 43 |12.5] 24 | 23 | 24 24 25000 260
185453 | LV.F-100-24-SST-M16x98-VD 100 {M16| 70 | 141 | 98| 43 |12.5] 24 | 23 | 24 24 25000 312
185455 | L\V.F-100-24-SST-M16x138-VD | 100 |[M16| 70 | 181 | 138 | 43 [12.5| 24 | 23 | 24 24 25000 363
185457 | LV.F-100-24-SST-M16x158-VD | 100 |[M16| 70 | 201 | 158 | 43 |12.5| 24 | 23 | 24 24 25000 391
185461 | LV.F-100-24-SST-M20x98-VD 100 {M20| 70 | 141 | 98| 43 |12.5] 24 | 23 | 24 24 25000 384
185463 | LV.F-100-24-SST-M20x138-VD | 100 |[M20| 70 | 181 | 138| 43 [12.5| 24 | 23 | 24 24 25000 464
185465 | L\V.F-100-24-SST-M20x158-VD | 100 |[M20| 70 | 201 | 158 | 43 [12.5| 24 | 23 | 24 24 25000 504
185467 | LV.F-100-24-SST-M20x198-VD | 100 |[M20| 70 | 241|198 | 43 |12.5| 24 | 23 | 24 24 25000 589
185471 | LV.F-100-24-SST-M24x98-VD 100 [ M24| 70 | 141 | 98| 43 |12.5] 24 | 23 | 24 24 25000 484
185473 | LV.F-100-24-SST-M24x158-VD | 100 |M24| 70 | 201 | 158 | 43 |12.5| 24 | 23 | 24 24 25000 659
185475 | L\V.F-100-24-SST-M24x198-VD | 100 |M24| 70 | 241|198 | 43 |12.5| 24 | 23 | 24 24 25000 780
185501 | LV.F-125-24-SST-M16x58-VD | 125 |M16| 95 | 125| 58| 67 [12.5]| 46 | 23 | 24 24 28000 399
185503 | LV.F-125-24-SST-M16x98-VD 125|M16| 95 | 165| 98| 67 |12.5] 46 | 23 | 24 24 28000 451
185505 | L\V.F-125-24-SST-M16x138-VD | 125 |[M16| 95 | 205|138 | 67 |12.5| 46 | 23 | 24 24 28000 502
185507 | LV.F-125-24-SST-M16x158-VD | 125 |[M16| 95 | 225|158 | 67 |12.5| 46 | 23 | 24 24 28000 530
185511 | LV.F-125-24-SST-M20x98-VD | 125 |M20| 95 | 165| 98| 67 |12.5| 46 | 23 | 24 24 28000 523
185513 | LV.F-125-24-SST-M20x138-VD | 125 |[M20| 95 | 205|138 | 67 [12.5| 46 | 23 | 24 24 28000 603
185515 | L\V.F-125-24-SST-M20x158-VD | 125 |[M20| 95 | 225|158 | 67 |12.5| 46 | 23 | 24 24 28000 643
185517 | L\V.F-125-24-SST-M20x198-VD | 125 |M20| 95 | 265|198 | 67 |12.5| 46 | 23 | 24 24 28000 728
185521 | LV.F-125-24-SST-M24x98-VD | 125|M24| 95 | 165| 98| 67 [12.5]| 46 | 23 | 24 24 28000 623
185523 | LV.F-125-24-SST-M24x158-VD | 125 |[M24| 95 | 225|158 | 67 |12.5| 46 | 23 | 24 24 28000 798
185525 | L\V.F-125-24-SST-M24x198-VD | 125 |[M24| 95 | 265|198 | 67 |12.5| 46 | 23 | 24 24 28000 919

s I3 T 528
- EARE  -30°C~100°C 185301
- BEEMELCHEFLAN M E R - AT ARFLEEREEZ2RE]L)

=
3t

o D o b e o I o o o e e B e e e e o o o e o e e e R e e o N R N e o o o

ok

BAEE

- FARAL 5005 85 PARUAY > R¥ & FDA IZ#E(FDA CFR.21 A1 EU 10/2011) » &
BAREmTE  ERAAREIBERSR  BRES

- SRR RREEMEEERNNRE _ LR 0 KR NSRBI AR R YT
BIRERE RN

(wa PE3=T BRER B IRRE
MRABB L RB AR E > DA B R R

- AR IEERSRRRIMG > WEE(EEEIZR)AER e > HEF BT

- IZIRTERIEE



